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1. BREEBOL
(1) $BEns 2,387,724, 000 2,312, 285, 000 75, 439, 000
BN Et 2,387,724, 000 2,312, 285, 000 75, 439, 000

2) BEEA

EE S| 2,369, 123, 000 2,296, 684, 000 72, 439, 000
e 22,801, 000 19, 371, 000 3, 430, 000
BEE Mt 2,391,924, 000 2,316, 055, 000 75, 869, 000
2 HA R 8 4B -4, 200, 000 -3, 770, 000 -430, 000
2. BENMSHO 0

(1) $BEsINE
B s IR s 0 0 0

2) BENEFA
BEE At 0 0 0
2 AR 2 o\ fe8 0 2 0 0 0
2 A — A% IF LR BA 2 48 -4, 200, 000 -3, 770, 000 -430, 000
—RERMENE RS 6, 942, 000 7,536, 000 -594, 000
—RERHENRES 2,742,000 3, 766, 000 —1, 024, 000

I 35 ERKBAER RO

2 #A 4 7E I R BA 2 48 0 0 0
EEERMENEES 6, 300, 000 6, 300, 000 0
EEEKRMENRES 6, 300, 000 6, 300, 000 0
M ESRBESRES 9, 042, 000 10, 066, 000 -1, 024, 000
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1. BEEBOH
(1) BN
BN st 2,369, 123, 000 0 18, 601, 000 2,387, 724, 000
2) ®BEEMA
EE 3 2,369, 123, 000 0 0 2,369, 123, 000
smE 0 0 22,801, 000 22,801, 000
BEEmH 2,369, 123, 000 0 22,801, 000 2,391, 924, 000
L AR bR AR 0 0 -4, 200, 000 -4, 200, 000
2. BENMEFOE
(1) BEsIRE
BN Et 0 0 0 0
2) ®BENEA
BENE At 0 0 0 0
& AR S AR 0 0 0 0
24 HA — A% IF Wk BA 22 8 48 0 0 -4, 200, 000 -4, 200, 000
— R EE RS 0 0 6,942, 000 6, 942, 000
— R EBREA RS 0 0 2,742, 000 2,742,000
I $5% ERKEAE IR O 55
2 HA 5 X IF Wk BA 22 8 48 0 0 0 0
EEEGRMENEES 6, 300, 000 0 0 6, 300, 000
EEEGRMENRES 6, 300, 000 0 0 6, 300, 000
M ESkBAESRES 6, 300, 000 0 2, 742, 000 9,042, 000




